1)

2)

3)

4)

5)

6)

Solving Multi-Steps Inequality

5+2x=<20

—5x+12<-8

4x+1>1

7>5x-3

—+6<-14
2

10-6+2
3



7) 6+y>2y-3

8) 5y+2<y+34

9) 2y+7>11
10) 6n-3<-9
11) 11-4z<-1
12) 3m—-8>-30+5m
13) 19> 2% 25
90



14) 3+-<7

15) 14p-5>-3p+114

16) —3x—3<2x—83



Answer Key



1)

2)

3)

4)

Solving Multi-Steps Inequality

5+2x<20
2x=<20-5
2x=<15

15

X< =
2

) 15
solution: x < ?

O

-11-10-9 8.7 6-5.4-3-2-1 0 1 2 3 4 5 6 7 8 9 10 11

—-bx+12<-8
-bx<-8-12
—5x<-20
X>=4
solution: x =4

O pal

-11-10-9 -8-7 -6-5-4-3-2-1 0 1 2 3 4 5 6 7 8 9 10 11

dx+1>1
4x -1-1
4x >0
x>0

solution: x>0
O——eeeeeeeey.

-11-100-9 8.7 6-5.4.3-2-1 0 1 2 3 4 5 6 7 8 9 10 11

7>5x-3
7+3>5x

10 >5x

2>X
solution: x<2

-11-10-9 -8-7 6-5-4-3-2-1 0 1 2 3 4 5 6 7 8 9 10 11




S)

6)

7)

8)

X i6<-14
2

X 14-6
2

X 20

X 20

2

X >40
solution: x =40

——rrer—rrTrr
-40 0 40

10>6+X
3
10-6-2
3
4>X
3

12>y
solution:y <12

—r—t L
.12 0 12

6+y>2y-3
6+3>2y—-y
9>y

solution:y <9

-11-10-9 -8-7 6-5-4-3-.2-1 0 1 2 3 4 5 6 7 &8 9 10 11

S5y+2<y+34
S5y—-y<34-2
4y <32

y<8
solution:y <8



-11-10-9 -8-7 6-5-4-3-2-1 0 1 2 3 4 5 6 7 8 9 10 11

9) 2y+7>11
2y =11-7
2y -4
y>2
solution:y > 2

o

-11-10-9 -8.7 -6 -5 -4.3-2 -1 0O ;. ‘:' 3' 4' 5 6 7 8 9 10 1.1
10) 6n—-3<-9
6n<-9+3
6n<—6
n<-1
solution: x<-1
—_—

-11-10-9 -8-7 -6-5.-.4-3-2-1 0 ; ; ?: ; 5 6 7 8 9 10 1.1
11) 11-4z<-1
11+1<4z
12< 4z
3<z
solution:z >3

o
-11-10-9 -8-7 -6-54-3-2-1 0 1 2 3 4 5 6 7 8 9 10 11

12) 3m—-8>-30+5m
—8+30>5m—-3m
22 >2m
11>m
solution: m=<11

&)

i
-11-10-9 8.7 6-5-4-3-2-1 0 1 2 3 4 5 6 7 8 9 10 11

13) 19> 2 25
90

19+25> %
90

1> X
90

3960 > x
solution: x <3960

—r 1
-3960 o] 3960



14) 3+E<7
3

9<7—3
3
9<4
3
b<12
solution:b <12
+—t—+ T T O
15) 14p-5>-3p+114
14p+3p>114+5
17p>119
p>7
solution: p>7
&
-11-10 -9 -8 -7 -6 -3 -4-3-2-1 0 ;- ; 3' -; 5 6 7 8 9 10 11
16) —3X—3<2x-83
—-3+83< 2x+3X
80 <5x
16<x

solution: x >16

+ —r—r
16 0 16



